
 

 

 

 

 

Q = A̅

Q = A. B

Q = A + B



 

Q = A. B̅̅ ̅̅ ̅

Q = A + B̅̅ ̅̅ ̅̅ ̅

Q = A ⊕ B

Q = A B̅ + B A̅

 

 

 

 

 

A ∗ A̅ = 

A + A̅ = 

 

A ̿ = A
 

 

A * 0 = 0 

A + 1 = 1 



 

 

A + B̅̅ ̅̅ ̅̅ ̅ = A̅ ∗ B̅
A ∗ B̅̅ ̅̅ ̅̅ ̅ = A̅ + B̅

 

AB + A̅C + BC = AB + A̅C
(A + B)(A̅ + C)(B + C) = (A + B)(A̅ + C)

 

 

 

 

 

 

A A  A̅



 

 

 

m0(A̅ B̅ C̅) M0(A + B + C)

m1(A̅ B̅ C M1(A + B + C̅)

m2(A̅ B C̅) M2(A + B̅ + C

m3(A̅ B C) M3(A + B̅ + C̅)

m4 A B̅ C̅) M4(A̅ + B + C

m5(A B̅ C M5(A̅ + B + C̅)

m6(A B C̅) M6(A̅ + B̅ + C

m7(A B C) M7(A̅ + B̅ + C̅)

 

S = m2 + m3 + m4 + m5 = A̅ B C̅ + A̅ B C + A B̅ C̅ + A B̅ C
 

S = M0 + M1 + M6 + M7 = (A + B + C)(A + B + C̅)(A̅ + B̅ + C)(A̅ + B̅ + C̅)

F(A, B, C) = A + B̅C, 

F(A, B, C) = A + B̅C  

= A(B + B̅)(C + C̅) + (A + A̅)B̅C

= (AB + AB̅)(C + C̅) + (A + A̅)B̅C

= AB(C + C̅) + AB̅(C + C̅) + (A + A̅)B̅C

= ABC + ABC̅ + (AB̅C) + AB̅C̅ + (AB̅C) + A̅B̅C

= ABC + ABC̅ + AB̅C + AB̅C̅ + A̅B̅C

= m7 + m6 + m5 + m4 + m1 



 

𝐹(𝐴, 𝐵, 𝐶) = A + B̅C  

= (A + B̅)(A + C) 

= (A + B̅ + 0)(A + C + 0) 

CC̅ BB̅

F(A, B, C) = (A + B̅ + C̅C )(A + C + BB̅)

= (𝐀 + 𝐁̅ + 𝐂 )(A + B̅ + C̅ )(A + C + B)(𝐀 + 𝐂 + 𝐁̅)

= M2 M3 M0



 

 

F = AB ⊕ (B + C̅)̅̅ ̅̅ ̅̅ ̅̅ ̅̅



 

 

 

F(A, B, C) = AB + A̅C + BC

= AB + A̅C + BC ∗ 1 
= AB + A̅C + BC(A + A̅) 

= AB + A̅C + BCA + BCA̅ 
= AB(1 + C) + A̅C(1 + BC) 

= AB(1) + A̅C(1) 

= AB + A̅C 

 F̅



 

 

 

 

 

 

 

 

 

 

 

F = A̅BC̅ + ABC̅ = BC̅(A̅ + A) = BC̅

 

F = A̅BC + A̅BC̅ = A̅B(C̅ + C) = A̅B
 

 

F = A̅B̅C̅ + A̅BC̅ = C̅A̅

 

F = A̅B̅CD + A̅B̅CD̅ + AB̅CD̅ + AB̅C̅D̅

 = A̅B̅C + AB̅D̅

 

 
 

 
 

 

  

   
 



 

 

 

 

F = A̅B

 

 

 

F = BD

 

 

F = B̅D̅

 

 

F = A̅D̅

 

F = A̅B̅D̅ + A̅C̅ + BD + AB̅C

 

F = A̅D̅ + BC̅ + C̅D̅ + ABD

∅

∅

∅ ∅ ∅

∅

  

 
 

  

 
 

  

 
 

  

 
 

  

 
 

  

 
 

 
 

 

∅

∅

F = B̅


